HIBNR—INT 4 27 Ak A
S —BE e 7y > N = —
S — T FR B

BN T 0T T N B R -

W EEALPI 7V — TRk

202446 H 25 H

ZRMBLBR Y — A1 Rk

VEREME% © IR T IUA BREESZ B D (8 275, (WZREE (2024)
Wi | | atwsws | FI-ICW-314, F1-1CH-322
i Ey 2024526 H25H (8:46 ~ 13:06)
o i 22l ey ok | i wv/h) s
ux“jo}.l (:EL'JJRTJZ);M R (mSv/h) (20244E6 8 18R) fii %
1 Sk BESEAD T MR (55 1 B B — =
2 1 S A I (455 2 ) TS — =
3 64k BESE IR (5 3 b~ 8 1) B — —
4 8 P T Iy BT (545 O ) O 2% BRI 0. 005 0. 005
5 1 S E A B (55 9 ) JU R 1B TLEER 0.001 0.001
6 1 4 BEEA 5 BT (555 9 BE) J b= 1y B 0.001 0.001
7 [ P BB (10 BE) 10-A TR — =
8 B KBS R (1 0 B0) 10-B B — —
9 8 e IR (10 B1) 10-C B = =
10 —IERETY 7 AL TLEES 0.001 0.001
1 —BHEETYU T A2 B 0. 002 0.002
12 —WRETY 7 B R 0. 002 0.002
13 —BRETY 7 C TR 0.001 0.001
14 —HRETY 7D LB 0.003 0.003
15 —BRETUTE L T 0.003 0.003
16 —IRSTY 7 E 2 B 0. 004 0.004
17 —W g T 7F B 0.002 0.002
18 —IFRAETY 7 G (LMRIAD) (&7 (BE3EtR) 0.001 0.001
19 —IRETY 7 G LML A D) R (5 1R) 0.001 0.001
20 —IERETY 7 G (L) fR AR (i) 3% 3 0.001 0.001
21 —WFRAETY 7 H CEdEA D) R A (IR 3% 3 0.001 0.001
29 —I AT Y 7 H (LRI A D) {RITA (1) % 3 0.002 0.002
923 — WA 7 H (s m) {RERA (B4R 3¢ 3¢ 0.001 0.001
24 —MfEETY 7] FESH —_— — AR EER ARSI TENEZLHEERRLDED
25 —IFRETY 7 L LB 0.001 0. 001
26 —MHRETY 7 M (A D) R (IR 3% 3 0.001 0.001
o0 —IF T Y 7 M (HA ) {RATA (1) % 3 0.001 0.001
28 —MRETY 7N TS — =
29 —RETY 70 LB 0. 002 0.002
30 —B ST 7P FEH 0.003 0.003
31 — I T ) 7P2 TR 0. 005 0. 005
32 —BEEETY 77U LB — =
33 —BRET) 7V TUBERDX 1 — —
34 —BRETY 7N FHH = =
35 —BERETY 7X B — =
36 —IRFET Y 7 A LB 2 0.001 0.001
37 —PE{RE T ) 7BB TR 0.002 0.002
38 —IE T 700 RS 0. 005 0. 005
39 —RE T 7DD TR 0.001 0.001
40 — B4 T\ 7EE ESH 0.001 0.001
41 —W§{R45 T 7EE2 A 0.001 0.001
42 —WRETY 7d TR 0.012 0.012
43 —IRETY Te T 0. 009 0.009
44 —BERETY Tk (1A D) TUBEK 2 0.001 0.001
45 —ERE T 7K (A D) TLH 2 0. 004 0. 004
46 —MRETY 7 1 LB 2 0.001 0.001
47 —BHEAE T 7 m () TR — =
48 — BT 7 m (75 0) TS = =
49 —MRETY 7T fRARA (HE3EAR) — =
50 —RETY 7a {0 R 3% PG 4 5 — =
51 —BERETY 7D 1) 75 a6 4 5 0.001 0.001
59 —IF RS T 71 ol 35 R A5 0.001 0.001
53 —BRET) 7 T 5 (2 A 0.002 0.001
54 —WHRET ) 7 11 35 el 2 5 - —
55 —WF AT 7o } 85 1 o5 a2 5 0.001 0.001
X1 REWIE, EEERE A IR - #48) oem i

X2 BICRERZRES 2000, @EMEREKEORE LT,

*3

CEITEEAR B ZRETLLO0, REE (REERTRAE LSS ROEME RLEKS) ofELT.




HHENR—IT 4 27 AR A 20244E6 H 26 H

s —BEAAEE ) > N =—

B — T ) S BT

BEEMRAE T 0T 5 N B - FEELP] ) — TR

ZEHMEBEMER Y —A iR
T4 0 IR S IUNVA BRI 0 R %55, W36 (2024)

W AHER RS F1-PS-215

i 1A 2024426 H 26 H (8:43 ~ 12:37)

i H)5E 5% - e[l Y T i ERE i (mSv/h)

zf\l'loﬁt (:\1_"])/]Z YZﬂgrfrfr\) R l (a‘::!s\v/h) ¢ (2024561 19H) fii#%
1 A BESE W RE (55 1 b0 TUEE 0.009 0.009
2 5 (eI B (365 2 b0) BRI 0. 006 0. 006
3 [ P BESE M G (585 3 Mi~105 8 1Y) TR 0. 004 0. 004
4 [ K TR ST 315 9 W) J e 2p% TUBES = —
5 Sk BRI ST (5 9 H) S 1% TLBE — —
6 [ K B R BT (5 9 b0) Jb 1 1% TR — —
7 5 e TR I B (10 H1) 10-A TLEE — —
8 [ P BRI AR (1 0 141) 10-B LB — —
9 A SR IR (1 0 B40) 10-C LB = =
10 —BRETY T AL TLBEST — —
11 —HRETUTA2 JLEE = —
12 —I5fETY 7B TR — —
13, —MfRETV 7 C TR = =
14 —BfRETY 7D JFUBERL - =
15 —IFRETVTE L JUBES — —
16 —MRETY T E 2 TLEER = =
17 —B{EETY 7F TR — =
18 —MREETY 7 G LA D) (R (RE3EAR) — —
19 —BEE T 7 G ([LMAEA ) (RARA (R HEHR) — —
20 —BRETY 7 G (L) (RARA (41 3% 3 — -
21 —BHEET Y 7 H {EMAEA D) (AR () 3% 3 — —
22 —B$EE T Y 7 H LA D) ATk () % 3 — —
23 — IR Y 7 H (i) (&7 (i 4) 3% 3 — —
24 —MRETY 7] TR 0 0[)5 [] 005 RN RERURES S TEUEEADESRRLD AN
25 —WifRETY 7L JLEER = T
26 —MRETY 7 M (A ) (R (i) % 3 = L
27 —WFRE T 7 M GEEA D) {REFEA (4R) % 3 — —
28 —WRAE Y 7N LB 0.001 0.001
29 —I T 70 B — —
30 —WFRETY 7PI FLEES = —
31 —IERE T 7P2 TLEER = K
32 —WFRETY 70 LB 0.001 0.001
33 —BHRETY 7V FEHK 1 0. 004 0.004
34 —WERET ) 7N TR 0.003 0.003
35 —REfET Y 7X TR 0.003 0.003
36 —RERET ) 7ML TUBEEU 2 — —
37 —W 4 T ) 7 BB LB — —
38 —KRETY 70C IR 3] = —
39 —MRE T 7DD HEH = —
40 —B§ {45 T ) 7EEL T — —
41 — M4 T ) TEE2 TSR — —
42 —BE AT 7d B — =
43 —BRETY e TLEE — —
44 —W5 T 7K (AT FLBE 2 — —
45 —BERETY Tk HEAN) FLEEHEX 2 — -
46 —BRET) T | TLEEHX 2 — -
A7 —BEAE T ) 7 m (L) TR 0.033 0.033
48 — W 5 T ) 7 m (7 ) B 0.009 0.009
49 —MERETY 7T bR (B3 R) 0.001 0. 001
50 —MRET ) 7a 1 9 ol 0. 005 0. 005
51 —BHRETY 7 L1375 P 255 — —
52 —BHRETY 7 {5 1 i a6 A — —
53 —BERETY T i 1 3 Pl A5 - —
54 —BHRETY T L1135 el 2 e 0.004 0. 004
55 —BRETY 7o T 5 a6 — —

X1 REDIS, FESE (RERA SR - 34R) bk

X2 BICEHRZERET 200, fNEREXREDOREBTI.
K3 EITHIRA (B 2RET 200, HEE GREERTHRAELLHERCEMFERERS) ORELT,




(mSv/h)
BARENES (RMH)

1. 000
0. 100 ) ¢ i : £ ff —
M
Y 4 !' e
0.010 : T (e _5,1,,,.., ,
(O T
A (N (@ (@
(AT T T e SO G . Al
P s ) s | |
CUUR/AN /80 /12 /4 /8 /121 (23/4/1 C23/8/1 C23/12/1 C24/4/1 T24/8/1  '24/12/1 ' 25/4/1
—o— EHERMIRERE (5 9 1) AT 2R i EERRNEER 528 —O0— BHEEMEER B3 R~58 1) —H——BRETUTA1
—n— —BREIUTA2 —o— —HBRETVUTB — —HRETIYTC ——BREIVU7D
—t——BRETIY7TE] —— —EREIVTE2 —0— —BREIVTJ —BREIVUTL
—0——BRETUTZN —O0——-HBRETIYTO0 —— —BREIV7 P » —0=— —BREETUTP 2
—BREIVTU ——HRETIUTW —— —BRETY 7 X T e E RN (3 0 ) 18 L IR
e EGEZYRER (5910 BT IR —— B RETY7d : ——— B REIYT e el —BRELY 7 m (RE)
i —BRELY 7 m ([EH) e ESHEEMRTERE (351 8) et —EREIYTF e BB ZHEE (1 048) 10-A
e EGRERMRER (1 04 10-8 = BEHERNEERE (1 06 10-C . el —BREIYTBB —BRETIUFCC
—HBREIY7DD —BRETUZEE! —BREIUFEE2
1('33‘6/ h) : WREEMES (RIRA - HI)
0.100
0.010
I
| S —_ .
I e
0.001 S LAY RO S e
TUURN4 80 012/ 22/ /8 (2212 234/ C23/8/1 C23/12/1 24/4/1 '24/8/1 “24/12/1 ' 25/4/1
e —BRETY7 G {LEmAD) — —EREIY7 G [{LeHEAD) —O0— —BEETY 7 G {tAEM) —t— —BRELIYT7H [{LHHLAD)
—'——ﬁﬁ!x'}?"(ﬁtﬂ!iﬁ)\l&" - —BRETUTH HLER) ——HREIYTM@EAQ) — —BEETY7MEAD
———BREIUTT ———HBREIUTV
(mSv/h)
BARENEE (ERFRER)
1.000 = — ‘ e
0.100
0.010
N,
S AN 1

001
/40 " 0/8/1 TA/12/1 "22/4/1 T 22/8/1 T22/12/1 ' 23/4/1 " 23/8/1 T23/12/1 '24/4/1 ' 24/8/1 ' 24/12/1 ' 25/4/1
—— —BREIUTa —H— —BRETUTD —— —BRETYT( —o— —HBREIYTO ———BEETYT ]

——EBRETVTI ———BRELUTAA —— —BRELYT —te= —BREEIUTKEAD) =W —BREIUTKEAD




